NiEF 2020 F M AR AERENEE

EERS %= PAREE L PAREBEAR 50 i a0 IREFEI G0 | AR Bt LRERER
100080210006518  |x1]i% 030100 £ A X 53 Bt 55 7] LEHG % 4> H il eemptl | BEmH R 595.60
100080210006511 | x|4:5z 030100 i XI5 4E g% 4= Hl e mgol LLmiitkl  592.00
100080210006509 |7k 73] 030100 i%:2% ANX 3Bt L7 7] EEG % 4= H il EEmmtl TETHR 589.80
100080210006521 | % 030100 ik XTI e 4= Hitil e il | L LWkl 586.00
100080210006539 | i 030100 722 ASX Bt 5L T7 7] ENEEi 4= H il Eermpl | TEmR  576.60
100080210006507  |[%:1% 030100 #:2# AX R IT A SEG % 4= H il el | EEWER  |576.20
100080210006555 |k 1030100 ik A X F 517 LEG % 4= H il el LEmitkl  1571.40
100080210006558 |4 F& 030100 %% ANX 3 Ht 585 [ e 4= H il ol | EEWER  564.00
100080210006568 | F#71%2 030100 %% A X 0I5 1) LEEGH 4= H el LEmiitkl  559.00
100080210006542 |f£%ilE 030100 ik A XTI SEY % 4= Hil EE m il | L Lok 548.40
100080210006547 | T2 030100 2 A X 3 Bt 55 7] LEHG % 4= H il Eermptl | BET R 544.60
100080210006510 |k ;L. /030100 i XTI 4E g% 4= Hl el TEmiitk]  542.40
100080210006522 |5 f# 030100 ik AX AT LEG % 4= H il el LLmiitkl  541.80
100080210006524 | %% 030100 #:2# XTI e 4= Hitil e il | L LWkl 539.40
100080210006512 | ZfEF 030100 742 ASX 3 Bt L5 7] ENEEiE 4= H il Eempl | EEmR 531.80
100080210006548 | THgFt 030100 2% ANX it 57 T7) SEG % 4= H il gl | EEWEER  529.60
100080210006560 | S 030100 4% ASX it 55 7] ENEEi 4= H il Eemptl | EETHR 526.20
100080210006543 #4545 030100 %5 AX 5T ENEENES 4= H il e gl | T E IRl 526.00
100080210007494 k788 030300 &% A X 3Bt 57 7] e 4= H EEmmtl | BETHR 621.20
100080210007521 | fFEikid 030300 fh2x% XTI SEY % 4= Hil JEE F il | L Lokl 613.60
100080210007496 | F#% 030300 # 2% X F 517 EEG % 4= H il el L miitkl  609.60
100080210007493  |hfs4t 030300 # 2% XI5 EEGH 4= Hl el LEmiitkl  607.60
100080210007505 |t 030300 # 22 A X 5wt 5E 519 LE %% 4= H il el LEmitkl  602.20
100080210007516 |5k#m# 030300 #t4vf XTI e 4= Hitil e mmilk | T Lokl 598.20
100080210007519 | F##k 030300 425 ASX 3Bt 55 7] ENEEiE 4= H il Eermpl | TETHR  595.40
100080210007491  |FrAk 030300 # 22 AX TR LEEGH 4= H il e mgil | T Lokl 594.20
100080210007518 |5k Hk 030300 # 22 A X F T 1) LEG % 4= H il el LEmitkl  590.60
100080210007502 |F &4 030300 H:4x2 ANX 3t 585 [ e E 4= H il el | EEWER  589.60
100080260000316  |i& 4 035101 ¥:4 (AEILS) [ AXAHE5E 7 R 4= H eEmstl | EETHR 590.00
100080260000559 |B:fEfH  |035101 M8 (ARVE2E) | ASX A58 77 1] L 4= Hil el | EETERl |584.80
100080260000363 |7 % 035101 ¥: (AEIES) [ AXA0FF 71 R 4= H il eemptl | LEmibk  578.60
100080260000345 |Fi2E 035101 M8 (ARVES) | ANXAMFFL 5 L 4= Hil e mpilk | IEETiHk  575.40
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EERS %= PAREE L PAREBEAR 50 i a0 IREFEI G0 | AR Bt LRERER &=:E
100080260000292 ixBEhE 035101 34 (ALY (A X SHEFLH PR n e 4= H il Eemptl | BEmR  572.40
100080260000392 | Z4EFH (035101 M (ARVES) | ANX AN FL 5 R LB 4= H il ek | EETiHR 57140
100080260000512 | [Z: il 035101 7448 (EVES:) AKX A58 75 1) R L 4 H il EwmEl | TETFRl |571.40
100080260000494 |#3E:  |035101 ¥4 (ALY [ ANX AT 1) R B 4= H il e il | L LTkl 566.00
100080260000398 | EHEE 035101 ¥4 (AR (AKX AWEFLH R 4= H il Eermpl | TETHR 563.20
100080260000329 |#tms7E 035101 #:44 (AEESE) | RIXAHEF 1A VR B 4= Hil gl | EEWER  562.40
100080260000460 |2 ## 035101 34 (AR (AKX A5 ) PN e 4= H il Eemptl | EEmHR 562.00
100080260000405 |14:3% 035101 7448 (JEVES) | ANX 4R 5877 1] L 4= H il e mpil | EEWiHR  560.80
100080260000551 |iZE & 035101 ¥4 (AL (AKX AWEFLH A R 4= H EEmmtl | EETHR  559.80
100080260000217  |#&:t7A  |035101 48 (ARVEE) | ANX A58 77 1] L 4= Hiil el | EETERl 1559.20
100080260000231 |#% & 035101 5 (AEES) [ RAXA0FF 7 1 PR n e 4= H il Eempl | EEmbR  555.80
100080260000380 |yLiiE (035101 548 (ARVESS) | ANX AN 5L 5 1 L 2 Hil ek | EETik  555.40
100080260000243 |7 035101 #:4 (AR (AKX S EFLH ) R 4= H il Ewmmtl TETIHR  554.80
100080260000479 |#k5z%k (035101 348 (AEIESE) | RIX AW 717 IR B 4= H il EEmatl EETHY  554.40
100080260000307 |#H3F A 1035101 4 (AR (A XA WEFLH ) R 4= H il Eempl | TETHR  551.60
100080260000510  |#7fk{k 035101 348 (AEHESE) | RIX 45717 VR - B 4= Hil el | EEWER  550.40
100080260000541 |#7=3E 1035101 48 (ARESE) (AKX A5 ) R 4= H il SEMEY | RE TR |477.00
100080260000081 | X% 035102 iEH (32%%) [ RX4A0F5 7 VR B 4= Hil ol | EEWEER  |577.40
100080260000142  |[{i[{% 035102 ¥EH (3:2%%) [ RXA0F5 7 R 4= H el LEmiitkl  575.80
100080260000074  |Fuf#s 035102 M (L) |IANXAMRFFL T L 4= Hiil sl | EETERl |564.00
100080260000123 |15+ 035102 iEf (32%%) [ RX40F5 7 1 R 4= H il Eemptl | EEmR  563.40
100080260000109 |akiEiiE 035102 #:4 (V£ [ AXAHFFH ) R B 4= H il el | LTkl 563.00
100080260000116 | E &% 035102 4 (%) [ AXSWHFLH A R 4= H il EEmptl | EETHR  560.60
100080260000022 |#jEE 1035102 #:4 (UE%¥) [ AXAHFF T I R B 4= H il Ematl EEWHY  553.60
100080260000054 | gl i 035102 ¥ (312 AKX A HEF 7 1) R 4= H il eEmpl | EETHR 550.20
100080260000077  |#i% 035102 ¥ (3127 AR 4 HF% )7 1) IR B 4= Hil el | EEWER  550.00
100080260000045 |Z=#% 035102 ¥ (3127 R4 HEF 7 1A PN e 4= H il Eermptl | TEm R 549.20
100080260000080 |&H1h 035102 #:4 (V%) [ AX AW ) IR B 4= Hil gl | EEWER  |544.40
100080260000144 |#rzF 035102 #:4# (%) (AKX AW H A R 4= H el L miitkl  540.20
100080260000098 |Z'#t 4 035102 kM (L) |IANXAMFFL T L 4= Hil el | EETERl |537.60
100080260000196  |#ffiks: 035102 #:4 (V£ [ AXSWHFLH A R 4= H il el L miitkl  536.60
100080260000179 |3 035102 748 (IE%) IR AW L 4= Hil e mmilk | IEEwiHk  536.20
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100080260000547 |tz iF (035102 ¥4 (%) |[RX4MHFFL 1A R B 4 H il el L miitkl  535.60
100080260000046 |3kEe T [035102 ¥4 GE%) | RXAWFR 1A ARG e HH e mmtl  BEmitk  532.80
100080260000148 |43t H 035102 ¥4 (6% | RX4MHFR 1A N ] 4 Hiil Eematl TEmHY  528.80
100080260000082 |#fifsks 035102 ¥4 (%) | RXAMHFFITIA AR A H EEmatl BEWHY  528.00
100080260000020 | f# 035102 ¥ (312 AKX A HEF 7 1) PN ) 4 H ] el L mitkl  523.00
100080260000002 |53 |035102 ¥4 (VE%) | RXAWFR A ARG e HH ek | RETIERI |483.20
100080260000078 |ZEHrgE 035102 x4 (HES) ISR R E 4= H il SEMEY | RE TR 428.80
100080210005903 | ik 035200 Lo TAE AX W R TT 1A 4 g% 4= Hifl e msl TEmIHR  621.40
100080210005942 |Biff4s 035200 <> T.4E X W R TT A EEGH 4= H eEmatl | EETHR  607.40
100080210005882 | 5%l 035200 L4 TAE A XTI ENEENES 4= H el LLmiitk]  604.80
100080210005830 |5k i 035200 #2: T1E ANX G 5805 7] EEGH 4= H il el L miitkl  603.40
100080210005927 |=[#k ] 035200 < T4k AX R IT 1A e 4= H e mmtl BEmitk  601.40
100080210005890 |H-#f 035200 #t<x T4 AX BRI EEGH 4= H il EEmmtl TETIHR 600.00
100080210005826 |5k { 035200 #2> T/ XTI 4Hg % 4= H il e rmatl  EETHk  595.80
100080210005933 |50 035200 #£ TAE AX W FTT 1) LEH 5% 4= H il el L miitkl  591.60
100080210005929 | #iHiFE 035200 th4x LA AX TR ENEENES 4= Hifl e rmatl LTtk 591.20
100080210005935 | Biliili  |035200 4 TAE A X A F T 1) LEG % 4= H il el LEmitkl  589.40
100080210005900 |F# 035200 42> T1F AX W R TT 1A 4 g% 4= Hifl e mml TEmibR  588.20
100080210005914 |[{f:&# |035200 <> T.4E X W R IT A EEGH 4= H EEmmtl | EETR 585.40
100080210005926 |57 |035200 < T4k AX R TT 1A e 4= H EErmatl BETHY  583.60
100080210005901 | %33 035200 # 2 T1E ANX G 5805 7] EEGH 4 H il el L miitkl  580.60
100080210005922 |3 & 035200 th4x TAF X551 e 4= H il e m gl LLmiitk]  579.80
100080210005902 |Ef/p%  |035200 #h4> T4 AX AR I EEGH 4= H il EEmptl | EEmHR  576.80
100080210005863 |5k #f 035200 #£> T 1 XTI 4Hg % 4= H il e rmatl EETHk  576.40
100080210005887 |#%iid5: 035200 4> T1E X W EEGH 4= H il el LLmiitkl  575.40
100080210005852 |EH#E 035200 <> T.1E AX R TT A 4H g% 4= Hifl e mstl  TEmitk  |575.00
100080210005883 | x|@f4F 035200 #hox TAE A X F T 1) LEG % 4= H il el LEmiitkl  574.80
100080210005877 |#k 7 °F 035200 4 T4k AX R TT 1A 4 g% 4= Hil e msl TEmitk  |573.40
100080210005894 | Jif% 035200 # 2> T1E X W R IT A EEGH 4= Hifl ErHl D RETIE R 432.60
104890520220195 || 035200 42> TF AX R TT 1A e JE4H il EErmatl £EWHY  575.00
102460210006427 | EiE#x 035200 e TAE ANX G 5805 7] EEGH 3E4 H il el LEmiitkl  569.80
100520111104400 |Z[iE 035200 #h4x TAF AX R IT 1A e JE4 H il e mmtl BEHitk  564.20

H30, 8
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EERS %= PAREE L PAREBEAR 50 i a0 IREFEI G0 | AR Bt LRERER &=:E
105420370115486 |ik & 035200 #2: T1E A X 53 Bt 55 7] LEHG % ElE =kl el L miitkl  560.20
100080210005891 Xt & 035200 #t4x TAF XI5 1A LEEZH JE4 Hifil AEE ol oL miitk] — 546.40
106970512009865 |7k5:#5 035200 #-4 T AE AX AT LEG % JE4 H il el LEmiitkl  546.20
105900123407438 |4 5C 035200 #:2> T4 XTI e JE4 Hil e il | T LTkl 544.80
100080230000057 |k 4kH] 035200 4> T.4F ANX i ) B JE4x H il EFHl LWtk 540.40
100080230000028 |5k ffi%4 035200 4 TAE AX TR R JE4 Hifl Elgk B Emibk  |536.80
100080230000004 | i4= 035200 2> T/ ANX A5 ) I JE4= H il Rl EEmtkl  515.80
100080230000033 | F ¥k 035200 -2 TfE X 3 Wk FE 5 1) B 4 H il Ergl e fmiitk)  [511.20
100080230000055 |3250— 035200 4> TAF A X 0I5 1) I JE4= H il ErRFl LTk 506.20
100080230000018 |#k[Ext |035200 < TAE ANX 3Tt 58T T B 4= H il ErEY | LR |486.20
100080230000022  |i& {4 035200 #2: T1E ANX i T HU ElE =kl ErFl T Emutkl  481.60
100080230000037  |[: & 035200 #t2 T.1% ANX At 58 ) B k4= H il ErFk | TEETHk 1480.20
100080230000005 | fz% 035200 #:4 TAE X R I FU JE4 H il Rl TEETRY 477.80
100080230000049 |ffi%isk (035200 #-4 TAF XA T5 1A F R JE4 H il ERENY | TRl |477.60
100080230000020 |75 035200 #-4 TAE AX W FTT 1) B JE4x H il EFHl B EmTk  462.60
100080210006747 | F-iidik 120400 AFLiE# IR E AL 4> [ 45 % 4= H il e mmtl BEHiHR  629.20
100080210006613 | = # 120400 AL H 2R E AL LEG % 4= H il el LEmitkl  625.40
100080210006738 | #jik4 120400 A LR AN E ENEENES 4= H il e mglk | T E TRl 622.00
100080210006657 | Z=4:4r 120400 A LA #E TR EEGH 4= H EEmptl | TETHR 621.40
100080210006581 |7k 120400 A LR ITBURIGE 5 A FLEUR SEY % 4= H il EE il | L Lokl 614.60
100080210006598 | Az 154k | 120400 A JLiE #E TS LEHG % 4= H il el LEmitkl  612.80
100080210006583 | F- i 120400 AL HE YA E A EEGH 4= H il el LEmiitkl  610.80
100080210006586 | FEXiHE 120400 AFLAE IR E AL EEGH 4= H il EErmptl | EETHR  604.00
100080210006610 |k 120400 AL AN B E e 4= Hitil e il | L LWkl 603.40
100080210006589 |7k 4 120400 AL 2R E AL LEH 5% 4= H il el LLmitkl  599.40
100080210006588 | Z=fifji | 120400 3L 5 ITBURIE 5 A FLEUR LEEGH 4= H il e mgilk | L Lokl 1591.60
100080210006661 |Z=4:-1ii 120400 A FL45# FE R bR ENEEi 4= H il e rmmtl | EETHR 590.00
100080210006626 |Zsfif= 120400 A L& AN E SEY % 4= Hitil e mpil | EEWiHR  588.20
100080210006574  |# 45 | 120400 AL HE FEE IR R LEEGH 4= H SEMEY | RE TR 567.80
100080210006576 | Z=32 5 120400 AL R AN E SEY % 4= H il ErHl D RETIR 478.40
100080210006402 |k #k 120400 A LR HE L LEHG % 4= H il Eermptl | LEm R 635.40
100080210006396  |gkiix=s 120400 AL HE HESANNREEHI R | EE5G% 4= H il e mgol | LEmiitk]  631.40

HaT, 8
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EERS %= PAREE L PAREBEAR 50 i a0 IREFEI G0 | AR Bt LRERER &=:E
100080210006407 |5k &Hff 120400 AL HE L EEG % 4> H il el LLEmiitkl  626.20
100080210006397  |[: i 120400 AL BERTH EEHg % 4= H il EE m gl | L Lok 622.80
100080210006405 |5k rE 120400 AL HES N REEHIT R | EEg5% 4= H il el LEmiitkl  617.00
100080210006393 | % J¢. 120400 AL HE HE LT e 4= H EHl D RETIER 494.80
100080210006418 |4xE4¢ 120400 A FLAE HE LT ENEEi 4= H il SEMEY | RE TR 468.20
100080250001604  |itXd: 125200 AL FE ASX 3 Wik F 5 1) EHREE 4= H il e mgilk | LT okl 1361.60
100080250001029 |#[yz 125200 AL 3 ASX 53 it 55 7] BRI 4= H il el LEmitkl  339.00
100080250001553 |46 125200 A L FE AX W R TT 1A IR 4= H il sl | EETHR  1319.40
100080250001619 |fifriE 125200 AL R A X Bt 57 7] BRI 4= H el LEmitkl  314.20
100080250000305 | i 125200 A LR X 3 Bk FE 5 1) HHREE 4= Hil EE il | LT mivkkl  1311.40
100080250001393  |izffifs 125200 AL HE A X 3 Bt 55 7] EHRIE 4= H il el L mitkl  302.80
100080250001225 |3k & 125200 AL HE AX R IT 1A HHREE 4= Hl el | LR 299.80
100080250001616 |Ff#fiEk 125200 AL A X 3B L7 7] EHRIE 4= H il el LEmitkl  299.60
100080250001652 | 3% 125200 A JLE A X 3 Bk FL 5 1) HHREE 4= H il e il | BBkl 1299.60
804030250010237  ifXA%pH 125200 A FLAEHE ASX 3 Bt L5 7] BRI 4= H il el L mitkl  371.20
102940250006181 | 55404 125200 AFLAE#E ASX 3 Bk H 5 7] EHREE 4= H il e mgilk | L Lokl 352.60
100030599118253 |4 125200 AL H ASX it 55 7] BRI 4= H il el LEmitkl  337.40
100020517409912 | E ¥4 ¥k 125200 AL ASX 3 Wk 55 1) RIS 4= H il e mgilk | T E Tkl |334.00
100020517420805 |4 125200 AL HE A X 3Bt 57 7] BRI 4= H el LEmiitkl  328.00
804010025700243 |pisr#  |125200 A L& X 3 Bk FE 5 1) HHREE 4= Hil JEE m il | L Lok 326.60
100080250000557 | ffEsE  |125200 AL 3 A X 3 Bt 55 7] EHRIE 4= H il el Bt itk 329.20
100080250000339 | =il 125200 AL HE X 3 Bk 5 ) HHREE JE4H il ERHl T Emtk  359.20
100080250000398 | &4t 125200 A $LA 3 A X B 5 [7) BRI E[Ed =kl el LEmitkl  345.60
100080250000650 |[H 5 |125200 2L #E X551 EHREE JE4 Hil e il | T LTkl |345.20
100080250000215 |7 [i4E 125200 2~ HLE# ASX 3Bt 55 7] BRI JE4x H il Rl EEmtkl  337.60
100080250001036 | —#f 125200 L4 5 ASX 3 Bk F 5 ) EHREE k4= H i Erghlk B Embk [332.20
100080250001562 | xIjz5f¢ 125200 2 L7 ASX 53 Bt 55 7] BRI JE4= H il el LEmitkl  330.40
100080250000566 | & =4 125200 AL R X 3 Wk FE 5 1) RIS A4 H i Elgk BRIk [328.60
100080250000347 |j#[ii%k 125200 AL R ASX 3Bt 57 7] BRI JE4= H il ERHl B ETUR 326.20
100080250001226  |#fcili 125200 AL R X 3 ik FE 5 1) HHREE JE4H il SEFEY. | TETmkRl  1323.20
100080250000145 | xI|F#% 125200 A LA #E A X 3 Bt 55 7] EHRE ElE =kl ERFl B Emutk  322.00
100080250000520 | F##t 125200 ~ I/ B X 3 Bk 5 ) HHREE JE4 H il e ml L miitk]  320.80

HOU, 8
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100080250000039 |38k 125200 AL R A X 53 Bt 55 7] BRI ElE =kl el LEmitkl  319.60
100080250000865 |H i 125200 A LR X 3 Bk L5 ) HHREE JE4H il el LLmiitkl  316.60
100080250000176 |4 125200 AL ANX 3Bt L7 7] HHRIE JE4 H il EFFl B Emtbkl  316.00
100080250000181 |Z=RK3k 125200 LA A X 3 Bk FL 5 ) HHREE JE4 H il EFEY | TRl 1315.00
100080250000203 |41 125200 AL ASX Bt 5L T7 7] BRI JE4x H il el LLmiitkl  314.60
100080250000812 | K 4:f# 125200 AFLiE# ASX 3 Wik F 5 1) EHREE k4= H i e mgl | T EmRl  1312.40
100080250001164 | B 125200 AL ASX 53 it 55 7] BRI JE4= H il el LEmitkl  312.40
100080250001256 |{FXizE 125200 AL X 3 Wk FE 5 1) RIS A4 H i e mglk | T E TRl 1312.00
100080250000313 | xifi A 125200 AL HE A X Bt 57 7] BRI JE4= H il ErFl LTtk 311.80
100080250000348 | Fifi 125200 AL ANX 3Tt 58T T EEREE 4= H il ErEY | EETFR] 1310.20
100080250000126 |k 125200 A\ L FE A X 3 Bt 55 7] EHRIE ElE =kl el L mitkl  310.00
100080250000240 | Z=fisfe 125200 AL R X 3 Bk L5 ) HHREE JE4H il ERFl T Emitkl  310.00
100080250000249  |gkifsm 125200 2 SLE R A X 3B L7 7] EHRIE JE4 H il el LLmiitkl  310.00
100080250000527 | x1|#% 125200 A JLE A X 3 Bk FL 5 1) HHREE JE4 H il e il | L LWkl 1309.60
100080250000366 | Z=Fi 125200 AL AKX 3B 57 1) EHREE JE4x H il SErEY | EETEFR] 1309.00
100080250000275 |5k 7% 125200 AL H ASX 3 Bk H 5 7] EHREE 4= H i Elgk B Emikk  |308.80
100080250001446 | T #kffil 125200 L7 ASX it 55 7] BRI JE4= H il el LEmitkl  308.60
100080250000542 & 13 125200 AL R ASX 3 Wk 55 1) RIS A4 H i gk BRIk [308.40
100080250000688 | Z=#E7% 125200 AL HE A X 3Bt 57 7] BRI JE4= H il ERHl LTItk 305.80
100080250000042  Jkigifi 125200 AL R X 3 Bk FE 5 1) HHREE JE4H il AEE F il | oL mivkk)  |305.00
100080250001193 ¥ =5 125200 A LR A X 3 Bt 55 7] EHRIE ElE =kl el L mitkl  303.60
100080250001577  |Frik 125200 A LR X 3 Bk 5 ) HHREE JE4H il e m ol LEmiitk]  301.40
100080250000871 g1 125200 L& R A X B 5 [7) BRI E[Ed =kl el LEmitkl  292.60
100080250000715 | x1|>% 125200 AL A X 3 Bk FL 5 1) EHREE JE4 H il EFENY | TRl 290.80
100080250001232 | T #; 125200 AL ASX 3Bt 55 7] BRI JE4x H il EFHl LWtk 305.80 M, ¥lnissy
100560004895129 |H&HE 125200 LA 3 ASX 3 Bk F 5 ) EHREE k4= H i Elghlk BRIk |337.80
100550399993770 |75 fk9E 125200 LR ASX 53 Bt 55 7] BRI JE4= H il EFFl LTtk 328.80
105900123421254 x| 125200 AL R X 3 Wk FE 5 1) RIS A4 H i e gl | T EmRl  324.40
100360111102989 | & e |125200 AL HE ASX 3Bt 57 7] BRI JE4= H il ErRFl B EmUR 324.20
100030059112221 | yE 125200 AL R X 3 ik FE 5 1) HHREE JE4H il SEFENY. | TET Wk 322.60
100060210103646 | 55750 125200 AL HE A X 3 Bt 55 7] EHRE ElE =kl ERHl T Emutkl  321.00
100010000321251 |gkiig s 125200 AL R X 3 Bk 5 ) HHREE JE4 H il e mgiol | TEmitkl  321.00

Heu, L8
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100270999021413 | #tfdish 125200 AL HE A X 53 Bt 55 7] BRI ElE =kl ERHl T Emtkl  320.60
104590410030313 x| 125200 A LR X 3 Bk L5 ) HHREE JE4H il el LEmiitk]  319.40
102860232707774 |/5iE# 125200 A~ SLE R ANX 3Bt L7 7] HHRIE JE4 H il ErFl B Emutbkl  318.20
100010000320861 |5k ZE#f 125200 2 $LA 3 A X 3 Bk FL 5 ) HHREE JE4 H il EFENY | TRl 317.60
100010000320144 |40 125200 L& # ASX Bt 5L T7 7] BRI JE4x H il ErFl B Emutkl  317.20
104590410030847 & A 125200 A3 AX R IT A EHREE k4= H i Erghlk  EEmbk [317.20
106510125602081 |Ftg K 125200 L7 ASX 53 it 55 7] BRI JE4= H il Rl LTtk 316.80
103570250002223  |jkf2 125200 A L FE X 3 Wk FE 5 1) RIS A4 H i Elgk BRIk [316.40
100010000321174 | #EgiE 125200 AFLEFH A X Bt 57 7] BRI JE4= H il ErRFl B EmuTk  316.40
103840253503984  |Frka 125200 A LR X 3 Bk FE 5 1) HHREE E ==kl SEFEY. | TE LWkl 1315.80
100030059112343 |m3r7F 125200 AL A X 3 Bt 55 7] EHRIE ElE =kl ERFl L Emutk  314.40
104590410031068  |fEykid 125200 AL R X 3 Bk L5 ) HHREE JE4H il el LEmitk)  312.80
100020512905315 | Fifiik 125200 AFLE A X 3B L7 7] EHRIE JE4 H il R | LRl 1312.00
104590410030575 |#X#HifH |125200 ~SLE 7 A X 3 Bk FL 5 1) HHREE JE4 H il e il | B LTkl 1311.60
100190011191551 |4 >:42 125200 AL 3 ASX 3 Bt L5 7] BRI JE4x H il ErHl B Emutkl  311.60
100010000321041 |fHigi  |125200 2 $L4 5 X551 EHREE 4= H i e mgilk | L Lokl 1310.60
104590410031362 |5 Ff 125200 AL H A XS5 1) PRI 4 H bl ErEl EEmR 310.00
100560004895133 | {415 125200 A L FE AX W R TT 1A PRI JE4 Hil ErEE | BETR [310.00
102130005201525 |34 125200 AL R A X 3Bt 57 7] BRI JE4= H il ERFl LTk 309.40
100010000321455 |5 125200 AL ANX At 52T ) EEREE k4= H il ErEY | EETR] 1309.20
104590410031073  |jiEFi 125200 AL R A X 3 Bt 55 7] EHRIE ElE =kl ERHl T Emutkl  308.80
100030059006181 |3 125200 ~FL/ B X 3 Bk 5 ) HHREE JE4H il ERHl T Emitkl  308.60
104220510902519 |3kt 125200 ~HLE A X B 5 [7) BRI A4 H i ERE | EETER 1307.20
100030059006531 | 4&:I54k 125200 2 $L4 5 A X 3 Bk FL 5 1) EHREE JE4 Hil e il | L LTkl 306.40
101120000010418  |gkHise 125200 A SLEH ASX 3Bt 55 7] BRI JE4x H il el L mitkl  306.40
100010000320909 | fEfiis:  |125200 2 3LA 5 ASX 3 Bk F 5 ) EHREE k4= H i Sl BRIk [304.40
104590410031331 |4 7Fcvk 125200 AL A X B 55 1) PRI A4 H ErEl EEmR 303.80
103570250002315 | #jfiffg 125200 AL 7 X 3 Wk FE 5 1) RIS A4 H i ElE BRIk [302.80
100010002210061 | F 4 125200 A\ LR ANX A5 1) BRI JE4 H il ErEL | EETR 1301.60
101510001407481 |F1T 125200 A LR X 3 ik FE 5 1) HHREE JE4H il SEFEY. | e mikkl  301.40
100010000321021 | E#f 125200 A LR A X 3 Bt 55 7] EHRE ElE =kl el L miitkl  301.20
106100125232080 |44 125200 AL ANX 3t 52 ) EERE k4= H il Ergk [ IEETHR 301.00
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100020512910506 | x|l 125200 AL #E A X 53 Bt 55 7] BRI ElE =kl ERFl B Emutkl  297.60
100060210508170 | %I|3 125200 AL ANX 3t 52 ) EERE k4= H il ERHE | TEETR 294.00
104590410030890 | Hi{##E 125200 ~HLE#E ANX 3Bt L7 7] HHRIE JE4 H il ERFl B EmIR  294.00
106100125231676 |21 /] 125200 AL A X 3 Bk FL 5 ) HHREE JE4 H il EFENY | TRl 287.60
100080250000245 |mFijk 125200 A SLE#E A X 3 it 5L 5 7] EHRIE qE4= H il el Rt Feit k] 1307.00
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